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TEXT1
1. A primary factor which puts teenagers at risk of having a road
accident...
A. is speeding
B. is mobile phones

C. is cycling to school

2. Distracted in paragraph 2 can be best replaced by:
A. carefree

B. annoyed
c

. inattentive

. According to the text, young people in Britain...
. like to ride a bike to school.

. are afraid of being run over.
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. suffer from bullying.

4. They in paragraph 3 refers fo...
A. teenagers

B. bullies
C. young children

5. Young people should not...
A. cycle to school
B. walk to their destinations

C. wear headphones while walking
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6. They in paragraph 4 refers to...
A. young children
B. drivers

C. tfeenagers

7. According to the text, which of the following statements is TRUE?
A. Drivers are more responsible than teenagers for accidents.
B. Drug use cause road deaths.

C. Peer pressure is also responsible for road deaths.

8. According to the passage, which of the following statements is FALSE?
A. Britain leads in the number of road accidents among European
countries.

B. It is common for teenagers to talk on mobiles when walking.

C. UK drivers are not careful.

TEXT 2
9. Why do dolphins swim alongside ships?
A. They are very social and like the company.
B. It's a way of saving their energy.

C. They don't like to travel alone.

10. What is TRUE according to the 2nd paragraph?
A. Bow-riding is a way dolphins view their surroundings.
B. Their playfulness makes them well liked.

C. Dolphins are the most intelligent creatures on earth.
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11. What is FALSE according to the 2nd paragraph?
A. Dolphins like to feed on their own.
B. They live in groups of various members.

C. They like to hunt in groups.

12. According to the reading, the dolphin calf..
A. takes its first breath underwater.
B. nurses for up to 24 months.

C. stays with its mother for at least 3 years.

TEXT 3
13. According to the 2nd paragraph, whales...
A. have always lived in the seas.
B. evolved from dolphins.

C. can breathe without coming completely out of the water.

14. What is TRUE according to the third paragraph?
A. No other creature is bigger than the blue whale.
B. Male blue whales are the largest living creatures.

C. 60 elephants weigh as much as a blue whale.

15. Which of the following can best replace the word ‘diverged’ in the 1st
paragraph.

A. divided

B. separated

C. escaped

toLIVEWORKSHEETS



